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The unknowns always appear
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We may have more generally
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Three cases :

☒F:more equations than unknowns → no solution

(unless there are

superfluous eqhs )

?⃝m=n : as many eggs as unknowns

→ it is possible to have a unique solution

(unless superfluous egus → infinite solutions )



⑦ in < n : fewer egus than unknowns
→ infinite number of solutions
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In the above
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EH "

÷ :*:-. ⇔

Indeed
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no matter the shape of & .
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clearly X
,
= Xz = o is a solution .

other solutions? ×
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+ 3×2 = a ⇒ Xi = -3×2

2 Xp 1- 4×2=-6×2+4×2 = -2×2 = a

⇒ Xz c- O ,
Xy =DNo other solutionsI
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×, arbitrary
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infinitely many solutions
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